BRHITRE@EHE [EHER) HAER

|
3—1—1
( 3—1—1—1
( 3—1—1—1—3
L=240
1 1 23
212 6,850
17 54.6% 83.2% 14.9%
240 33.99 16.3 26.3
-
- 16
19
- 16
21
22
23
24
25
26
27
[GD) (
240m 19,077m
) 83.0C ) 84.0C ) (23,240m
13.4( ) 11.2( ) 8.8( ) 13.3( ) 13.0( ) 17.7C )
120,234 100,023 78,938 116,800 107,783 152,019
7,372 3,003 662 646 501 921
( 127,606 103,026 79,600 117,446 108,284 152,940
9,523 | 1 9,199 | 1 9,045 i 8,831 i 8,330 i 8,641 im im im m
—>H20 = 8.8m =6,624(  )><0.10= 662( ) = 8.8+19,077 m/23,240m=82.1%
H21 =13.3m =6,457(  )>=<0.10= 646( ) = 13.3+19,077 m/23,240m=82.1%
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H23 =17.7m =6,137(  )>0.15= 921( ) = 17.7+19,077 m/23,240m=82.2%
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